Algebral: 4.3 Name

Period

Arithmetic and Geometric Sequences - Explicit Formulas

When you want to find the nth term in an arithmetic or geometric sequence?

Use an {;%'P//'C/f'J' JIEQYVIM( la.

Determine each unknown term in the given arithmetic sequence using the explicit formula.

a =a+dn-1)

Example:

Determine the 20th term of the sequencel, 4, 7,...

Define your variables:

n = term number = 20
an = nthterm = ax
a1 = Istterm = 1

d = common difference = 2nd term ~ 1stterm = 4-1 = 3

Use the explicit formula to solve:

a,, =1+3(20-1)
a,, =1+3(19)

a,, =1+57
a,, =58
1. Determine the 30t term of the sequence
-10, -15, -20, ...

N =30 L o ~16 + (-5) (30-1)
g " %z Pgp * -/0*(-5)[:2?)
a/,:-/o ﬂgo=’/0’/7/5
0{/: ’/6"('/0)

o 9910 Oy = ~155
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3. Determine the 42nd term of the sequence
12.25, 14.50,°16.75;.. . .

= /,,2,25 7 2025{7/2 —/)

At “e

Ay > %y 0,5 1325 f A2 (41)
& iR a /AR5t 92,25
i 7 14.50-1R25 AR

A:2,25 43,5:/07/,5

2. Determine the 50t term of the sequence
100, 92, 84, ...

=50 a. =100 +(8&)(50 ~1)

50
afL: d50 a ;/00%(’8/)(46})
a /00 50
4 00 =392
A = 92-100 ~3°
A= Agp” ~ 72

4. Determine the 25% term of the sequence
3.3, 44, 55, ...

N5 4325=35+/./(o?5~/)

e 2 = 8.3+ L34
a,-3.53 25 i
g A e 26,
A=l @y = 2].7




Determine each unknown term in the given geometric sequence using the explicit formula. Round
to the nearest 100t if necessary.

n-1

gnzgl.r

Example:
Determine the 15th term of the sequence 0.125, -0.250, 0.500, ...

Define your variables:

n = term number = 15
Oni= nth term = 815
&= s term’ = 0.125

; 2nd term -0.250
r = common ratio = = =
1st term 0.125

Use the explicit formula to solve:
gs =0.125(-2)"*"

g, =0.125(-2)"
8,5 =0.125.16384

g, =2048
5. Determine the 10th term of the sequence 6. Determine the 15th term of the sequence
816,12, 1,-2,4, ...
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7. Determine the 18th term of the sequence 8. Determine the 12th term of the sequence
309,25 4;5;6.25; ...
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